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PasientKlarFraAr a LI LI LI LI LI LI LI LI LI LI LI LI LI
2015 12 10 8 9 6 1 7 2 1 2 58
2016 1 1 2 1 7 2 14

PasientKlarFraAr a RB RB RB RB RB RB RB RB RB RB RB RB RB
2015 13 21 12 18 28 23 15 13 18 24 35 32 252
2016 55 51 53 69 51 70 40 71 55 61 95 78 749

PasientKlarFraAr a RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr
2015 467 482 547 464 461 473 312 451 511 515 589 458 51730
2016 581 527 566 650 583 703 417 554 610 646 711 531 71079
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Rekvisisjoner

HenteKommune = 'RCROS'

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’

Rekvisisjoner (RB)

PasientKontor = 'St. Olavs hospital’
HenteKommune = 'RCROS'

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

Rekvisisjoner (LI)

Netto = 'Benyttet'

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'RCROS'

Pivot-tabell LI

Pasientkontor = 'St. Olavs hospital’

Netto = 'Benyttet'

TransportType = 'TAX'

HenteKommune = 'RCROS'

PasientKlarFraAr BetweenlInclusive(2015; 2016)

Pivot-tabell RB

Pasientkontor = 'St. Olavs hospital’
TransportType = 'TAX'

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'RCROS'



Pivot-tabell

HenteKommune = 'RCROS'
PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

Netto = 'Benyttet'
PasientKlarFraAr BetweenlInclusive(2015; 2016)
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